



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 01/06/2026
 Entered By: Gladys Mejia
 Sales Order: 102971
 Sidemark: FFI CHARLOTTE NC
 Ship Via: PU

Ship Date: 01/21/2026



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD
 SAN DIEGO, CA 92154-7208

Phone: (702) 842-4044

SHIP TO:
 FAIRFIELD INN BY MARRIOTT CHARLOTTE
 9230 HARRIS CORNERS PKWY
 CHARLOTTE, NC 28269-3788

Account:
 Phone: (336) 813-7706
 Fax:
 Contact: Rohan Patel

Item	Qty	UM	Stock No.	Description	Unit	Extended
1	23	EA	SPECIAL DRAPERY - SHEER TRAVERSING PANELS	Room Location: 1ST FLOOR GUESTROOM SHEER Header Type: PINCH PLEAT (3-FINGER) Fullness: 250% Draw Type: BATON Control / Product Width: 80 Control / Product Length: 70 Fabric Type: CUSTOM PRINT SHEER Fabric Pattern: MARRIOTT #286520 Fabric Color: RED MAPLE LEAVES Fabric Cost Per Yard \$: 83.95 Fabric Width: 118 Top Hem: 4 Bottom Hem: 0 3/8 Side Hem: 1 1/2 Return Length: 6 Bottom Treatment: CHAIN WEIGHTS - ROLLED HEM Stiffeners: YES Fabric Yards Required: 166 3/4	33.6000	772.80
2	23	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS	Room Location: 1ST FLOOR GUESTROOM SHEER Header Type: PINCH PLEAT (3-FINGER) Fullness: 250% Draw Type: BATON Mount Type: CEILING Product Inclusion - Baton(s): 36" WHITE FIBERGLASS Product Inclusion - Bracket(s): CEILING BRACKETS Control / Product Width: 80 Control / Product Length: 70 Bracket Total: 4	10.2500	235.75
3	65	EA	SPECIAL DRAPERY - SHEER TRAVERSING PANELS	Room Location: 2ND & 3RD FLOOR GUESTROOM SHEER Room Type: GUEST ROOM Header Type: PINCH PLEAT (3-FINGER) Fullness: 250% Draw Type: BATON Control / Product Width: 81 Control / Product Length: 75 3/4 Fabric Type: CUSTOM PRINT SHEER Fabric Pattern: MARRIOTT #286520 Fabric Color: RED MAPLE LEAVES Fabric Cost Per Yard \$: 83.95 Fabric Width: 118 Railroad Material: YES Top Hem: 4 Bottom Hem: 0 3/8 Side Hem: 1 1/2 Return Length: 6 Bottom Treatment: CHAIN WEIGHTS - ROLLED HEM Stiffeners: YES Fabric Yards Required: 471 1/4	33.6000	2,184.00

Purchase Order 13647

ORIGINAL

01/06/2026 12:22 PM



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 01/06/2026
 Entered By: Gladys Mejia
 Sales Order: 102971
 Sidemark: FFI CHARLOTTE NC
 Ship Via: PU

Ship Date: 01/21/2026



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD
 SAN DIEGO, CA 92154-7208

Phone: (702) 842-4044

SHIP TO:
 FAIRFIELD INN BY MARRIOTT CHARLOTTE
 9230 HARRIS CORNERS PKWY
 CHARLOTTE, NC 28269-3788

Account:
 Phone: (336) 813-7706
 Fax:
 Contact: Rohan Patel

4	2	EA	SPECIAL DRAPERY - SHEER	33.6000	67.20
TRAVERSING PANELS					
Room Location:	1ST FLOOR ADA GUESTROOM SHEER				
Header Type:	PINCH PLEAT (3-FINGER)				
Fullness:	250%				
Draw Type:	MOTORIZED				
Control / Product Width:	80				
Control / Product Length:	70				
Fabric Type:	CUSTOM PRINT SHEER				
Fabric Pattern:	MARRIOTT #286520				
Fabric Color:	RED MAPLE LEAVES				
Fabric Cost Per Yard \$:	83.95				
Fabric Width:	118				
Top Hem:	4				
Bottom Hem:	0 3/8				
Side Hem:	1 1/2				
Return Length:	6				
Bottom Treatment:	CHAIN WEIGHTS - ROLLED HEM				
Stiffeners:	YES				
Fabric Yards Required:	14 1/2				
5	2	EA	SPECIAL DRAPERY - TRACK	730.0000	1,460.00
TRAVERSING PANELS					
Room Location:	1ST FLOOR ADA GUESTROOM SHEER				
Header Type:	PINCH PLEAT (3-FINGER)				
Fullness:	250%				
Draw Type:	MOTORIZED				
Mount Type:	CEILING				
Product Inclusion - Bracket(s):	CEILING BRACKETS				
Control / Product Width:	80				
Control / Product Length:	70				
Bracket Total:	4				
6	3	EA	SPECIAL DRAPERY - SHEER	33.6000	100.80
TRAVERSING PANELS					
Room Location:	2ND & 3RD FLOOR ADA GUESTROOM SHEER				
Room Type:	GUEST ROOM				
Header Type:	PINCH PLEAT (3-FINGER)				
Fullness:	250%				
Draw Type:	MOTORIZED				
Control / Product Width:	81				
Control / Product Length:	75 3/4				
Fabric Type:	CUSTOM PRINT SHEER				
Fabric Pattern:	MARRIOTT #286520				
Fabric Color:	RED MAPLE LEAVES				
Fabric Cost Per Yard \$:	83.95				
Fabric Width:	118				
Railroad Material:	YES				
Top Hem:	4				
Bottom Hem:	0 3/8				
Side Hem:	1 1/2				
Return Length:	6				
Bottom Treatment:	CHAIN WEIGHTS - ROLLED HEM				
Stiffeners:	YES				
Fabric Yards Required:	21 3/4				

Purchase Order 13647

ORIGINAL

01/06/2026 12:22 PM



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 01/06/2026
 Entered By: Gladys Mejia
 Sales Order: 102971
 Sidemark: FFI CHARLOTTE NC
 Ship Via: PU

Ship Date: 01/21/2026



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD
 SAN DIEGO, CA 92154-7208

Phone: (702) 842-4044

SHIP TO:
 FAIRFIELD INN BY MARRIOTT CHARLOTTE
 9230 HARRIS CORNERS PKWY
 CHARLOTTE, NC 28269-3788

Account:
 Phone: (336) 813-7706
 Fax:
 Contact: Rohan Patel

7	3	EA SPECIAL DRAPERY - TRACK TRAVERSING PANELS		730.0000	2,190.00
		Room Location:	2ND & 3RD FLOOR ADA GUESTROOM SHEER		
		Room Type:	GUEST ROOM		
		Header Type:	PINCH PLEAT (3-FINGER)		
		Fullness:	250%		
		Draw Type:	MOTORIZED		
		Mount Type:	CEILING		
		Product Inclusion - Bracket(s):	CEILING BRACKETS		
		Control / Product Width:	81		
		Control / Product Length:	75 3/4		
		Bracket Total:	4		
8	23	EA SPECIAL DRAPERY - BLACKOUT TRAVERSING PANELS		32.0000	736.00
		Room Location:	1ST FLOOR GUESTROOM BLACKOUT		
		Room Type:	GUEST ROOM		
		Header Type:	PINCH PLEAT (3-FINGER)		
		Fullness:	200%		
		Draw Type:	BATON		
		Control / Product Width:	80		
		Control / Product Length:	70		
		Fabric Type:	BLACKOUT		
		Fabric Pattern:	SCHMIDT		
		Fabric Color:	FAWN		
		Fabric Cost Per Yard \$:	10 1/2		
		Fabric Width:	110		
		Railroad Material:	YES		
		Top Hem:	4		
		Bottom Hem:	0 1/2		
		Side Hem:	1 1/2		
		Return Length:	3		
		Stiffeners:	YES		
		Fabric Yards Required:	138		
9	23	EA SPECIAL DRAPERY - TRACK TRAVERSING PANELS		10.2500	235.75
		Room Location:	1ST FLOOR GUESTROOM BLACKOUT		
		Room Type:	GUEST ROOM		
		Header Type:	PINCH PLEAT (3-FINGER)		
		Fullness:	200%		
		Draw Type:	BATON		
		Mount Type:	CEILING		
		Product Inclusion - Baton(s):	36" WHITE FIBERGLASS		
		Product Inclusion - Bracket(s):	CEILING BRACKETS		
		Control / Product Width:	80		
		Control / Product Length:	70		
		Bracket Total:	4		

Purchase Order 13647

DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

ORIGINAL**01/06/2026 12:22 PM**

Ship Date: 01/21/2026

Date Ordered: 01/06/2026
 Entered By: Gladys Mejia
 Sales Order: 102971
 Sidemark: FFI CHARLOTTE NC
 Ship Via: PU



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD
 SAN DIEGO, CA 92154-7208

Phone: (702) 842-4044

SHIP TO:
 FAIRFIELD INN BY MARRIOTT CHARLOTTE
 9230 HARRIS CORNERS PKWY
 CHARLOTTE, NC 28269-3788

Account:
 Phone: (336) 813-7706
 Fax:
 Contact: Rohan Patel

10	65	EA	SPECIAL DRAPERY - BLACKOUT	32.0000	2,080.00
TRAVERSING PANELS					
			Room Location:	2ND & 3RD FLOOR GUESTROOM BLACKOUT	
			Room Type:	GUEST ROOM	
			Header Type:	PINCH PLEAT (3-FINGER)	
			Fullness:	200%	
			Draw Type:	BATON	
			Control / Product Width:	81	
			Control / Product Length:	75 3/4	
			Fabric Type:	BLACKOUT	
			Fabric Pattern:	SCHMIDT	
			Fabric Color:	FAWN	
			Fabric Cost Per Yard \$:	10 1/2	
			Fabric Width:	110	
			Top Hem:	4	
			Bottom Hem:	0 1/2	
			Side Hem:	1 1/2	
			Return Length:	3	
			Stiffeners:	YES	
			Fabric Yards Required:	390	
11	130	EA	SPECIAL DRAPERY - TRACK	10.6500	1,384.50
TRAVERSING PANELS					
			Room Location:	2ND & 3RD FLOOR GUESTROOM BLACKOUT	
			Room Type:	GUEST ROOM	
			Header Type:	PINCH PLEAT (3-FINGER)	
			Fullness:	200%	
			Draw Type:	BATON	
			Mount Type:	CEILING	
			Product Inclusion - Baton(s):	36" WHITE FIBERGLASS	
			Product Inclusion - Bracket(s):	CEILING BRACKETS	
			Control / Product Width:	81	
			Control / Product Length:	75 3/4	
			Bracket Total:	4	
12	2	EA	SPECIAL DRAPERY - BLACKOUT	32.0000	64.00
TRAVERSING PANELS					
			Room Location:	1ST FLOOR ADA GUESTROOM BLACKOUT	
			Room Type:	GUEST ROOM	
			Header Type:	PINCH PLEAT (3-FINGER)	
			Fullness:	200%	
			Draw Type:	MOTORIZED	
			Control / Product Width:	80	
			Control / Product Length:	70	
			Fabric Type:	BLACKOUT	
			Fabric Pattern:	SCHMIDT	
			Fabric Color:	FAWN	
			Fabric Cost Per Yard \$:	10 1/2	
			Fabric Width:	110	
			Railroad Material:	YES	
			Top Hem:	4	
			Bottom Hem:	0 1/2	
			Side Hem:	1 1/2	
			Return Length:	3	
			Stiffeners:	YES	
			Fabric Yards Required:	12	

Purchase Order 13647

ORIGINAL

01/06/2026 12:22 PM



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 01/06/2026
 Entered By: Gladys Mejia
 Sales Order: 102971
 Sidemark: FFI CHARLOTTE NC
 Ship Via: PU

Ship Date: 01/21/2026



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD
 SAN DIEGO, CA 92154-7208

Phone: (702) 842-4044

SHIP TO:
 FAIRFIELD INN BY MARRIOTT CHARLOTTE
 9230 HARRIS CORNERS PKWY
 CHARLOTTE, NC 28269-3788

Account:
 Phone: (336) 813-7706
 Fax:
 Contact: Rohan Patel

13	2	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		730.0000	1,460.00
			Room Location: 1ST FLOOR ADA GUESTROOM BLACKOUT			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 200%			
			Draw Type: MOTORIZED			
			Mount Type: CEILING			
			Product Inclusion - Bracket(s): CEILING BRACKETS			
			Control / Product Width: 80			
			Control / Product Length: 70			
			Bracket Total: 4			
14	3	EA	SPECIAL DRAPERY - BLACKOUT TRAVERSING PANELS		32.0000	96.00
			Room Location: 2ND & 3RD FLOOR ADA GUESTROOM BLACKOUT			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 200%			
			Draw Type: MOTORIZED			
			Control / Product Width: 81			
			Control / Product Length: 75 3/4			
			Fabric Type: BLACKOUT			
			Fabric Pattern: SCHMIDT			
			Fabric Color: FAWN			
			Fabric Cost Per Yard \$: 10 1/2			
			Fabric Width: 110			
			Top Hem: 4			
			Bottom Hem: 0 1/2			
			Side Hem: 1 1/2			
			Return Length: 3			
			Stiffeners: YES			
			Fabric Yards Required: 18			
15	3	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		730.0000	2,190.00
			Room Location: 2ND & 3RD FLOOR ADA GUESTROOM BLACKOUT			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 200%			
			Draw Type: MOTORIZED			
			Mount Type: CEILING			
			Product Inclusion - Bracket(s): CEILING BRACKETS			
			Control / Product Width: 81			
			Control / Product Length: 75 3/4			
			Bracket Total: 4			
16	50	EA	SPECIAL STATIONARY PANELS - BLACKOUT STATIONARY PANELS		9.5000	475.00
			Room Location: 1ST FLOOR GUESTROOM SIDE PANELS			
			Room Type: GUEST ROOM			
			Header Type: INVERTED PLEAT			
			Fullness: 200%			
			Rod Size: 18			
			Panel Length: 90 1/4			
			Fabric Type: BLACKOUT			
			Fabric Pattern: SCHMIDT			
			Fabric Color: FAWN			
			Fabric Width: 110			
			Top Hem: 4			
			Bottom Hem: 4			
			Side Hem: 1 1/2			
			Return Length: 9			
			Fabric Yards Required: 87 1/2			

Purchase Order 13647

DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

ORIGINAL**01/06/2026 12:22 PM**

Ship Date: 01/21/2026

Date Ordered: 01/06/2026
 Entered By: Gladys Mejia
 Sales Order: 102971
 Sidemark: FFI CHARLOTTE NC
 Ship Via: PU



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD
 SAN DIEGO, CA 92154-7208

Phone: (702) 842-4044

SHIP TO:
 FAIRFIELD INN BY MARRIOTT CHARLOTTE
 9230 HARRIS CORNERS PKWY
 CHARLOTTE, NC 28269-3788

Account:
 Phone: (336) 813-7706
 Fax:
 Contact: Rohan Patel

17	50 EA SPECIAL STATIONARY PANELS - TRACK STATIONARY PANELS	3.9000	195.00
	Room Location: 1ST FLOOR GUESTROOM SIDE PANELS		
	Room Type: GUEST ROOM		
	Header Type: INVERTED PLEAT		
	Fullness: 200%		
	Mount Type: CEILING		
	Product Inclusion - Bracket(s): CEILING BRACKETS		
	Rod Size: 18		
	Panel Length: 90 1/4		
	Return Length: 9		
	Bracket Total: 2		
18	136 EA SPECIAL STATIONARY PANELS - BLACKOUT STATIONARY PANELS	9.5000	1,292.00
	Room Location: 2ND & 3RD FLOOR GUESTROOM SIDE PANELS		
	Room Type: GUEST ROOM		
	Header Type: INVERTED PLEAT		
	Fullness: 200%		
	Rod Size: 18		
	Panel Length: 94 5/8		
	Fabric Type: BLACKOUT		
	Fabric Pattern: SCHMIDT		
	Fabric Color: FAWN		
	Fabric Width: 110		
	Top Hem: 4		
	Bottom Hem: 4		
	Side Hem: 1 1/2		
	Return Length: 9		
	Fabric Yards Required: 238		
19	136 EA SPECIAL STATIONARY PANELS - TRACK STATIONARY PANELS	3.9000	530.40
	Room Location: 2ND & 3RD FLOOR GUESTROOM SIDE PANELS		
	Room Type: GUEST ROOM		
	Header Type: INVERTED PLEAT		
	Fullness: 200%		
	Mount Type: CEILING		
	Product Inclusion - Bracket(s): CEILING BRACKETS		
	Rod Size: 18		
	Panel Length: 94 5/8		
	Return Length: 9		
	Bracket Total: 2		

Purchase Order 13647

ORIGINAL

01/06/2026 12:22 PM



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 01/06/2026
 Entered By: Gladys Mejia
 Sales Order: 102971
 Sidemark: FFI CHARLOTTE NC
 Ship Via: PU

Ship Date: 01/21/2026



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD
 SAN DIEGO, CA 92154-7208

Phone: (702) 842-4044

SHIP TO:
 FAIRFIELD INN BY MARRIOTT CHARLOTTE
 9230 HARRIS CORNERS PKWY
 CHARLOTTE, NC 28269-3788

Account:
 Phone: (336) 813-7706
 Fax:
 Contact: Rohan Patel

20	2	EA	SPECIAL DRAPERY - SHEER TRAVERSING PANELS		37.3000	74.60
			Room Location: CORRIDOR SHEER DRAPERY			
			Room Type: PUBLIC AREA			
			Header Type: RIPPLEFOLD			
			Fullness: 120%			
			Draw Type: BATON			
			Control / Product Width: 91 1/4			
			Control / Product Length: 81			
			Fabric Type: SHEER			
			Fabric Pattern: ALISON			
			Fabric Color: SLATE			
			Fabric Cost Per Yard \$: 16			
			Fabric Width: 117			
			Railroad Material: YES			
			Top Hem: 1			
			Bottom Hem: 0 1/2			
			Side Hem: 1 1/2			
			Return Length: 3 1/2			
			Bottom Treatment: CHAIN WEIGHTS - ROLLED HEM			
			Stiffeners: YES			
			Fabric Yards Required: 15			
21	2	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		21.3000	42.60
			Room Location: CORRIDOR SHEER DRAPERY			
			Room Type: PUBLIC AREA			
			Header Type: RIPPLEFOLD			
			Fullness: 120%			
			Draw Type: BATON			
			Mount Type: CEILING			
			Product Inclusion - Baton(s): 48" WHITE FIBERGLASS			
			Product Inclusion - Bracket(s): CEILING BRACKETS			
			Control / Product Width: 91 1/4			
			Control / Product Length: 81			
			Track Type: RIPPLEFOLD			
			Bracket Total: 4			
22	2	EA	SPECIAL DRAPERY - SHEER TRAVERSING PANELS		26.1000	52.20
			Room Location: CORRIDOR SHEER DRAPERY			
			Room Type: PUBLIC AREA			
			Header Type: RIPPLEFOLD			
			Fullness: 120%			
			Draw Type: BATON			
			Control / Product Width: 58			
			Control / Product Length: 78			
			Fabric Type: SHEER			
			Fabric Pattern: ALISON			
			Fabric Color: SLATE			
			Fabric Cost Per Yard \$: 16			
			Fabric Width: 117			
			Railroad Material: YES			
			Top Hem: 1			
			Bottom Hem: 0 1/2			
			Side Hem: 1 1/2			
			Return Length: 3 1/2			
			Bottom Treatment: CHAIN WEIGHTS - ROLLED HEM			
			Stiffeners: YES			
			Fabric Yards Required: 10			

Purchase Order 13647

DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

ORIGINAL**01/06/2026 12:22 PM**

Ship Date: 01/21/2026

Date Ordered: 01/06/2026
 Entered By: Gladys Mejia
 Sales Order: 102971
 Sidemark: FFI CHARLOTTE NC
 Ship Via: PU



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD
 SAN DIEGO, CA 92154-7208

Phone: (702) 842-4044

SHIP TO:
 FAIRFIELD INN BY MARRIOTT CHARLOTTE
 9230 HARRIS CORNERS PKWY
 CHARLOTTE, NC 28269-3788

Account:
 Phone: (336) 813-7706
 Fax:
 Contact: Rohan Patel

23	2	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		20.5000	41.00
			Room Location:	CORRIDOR SHEER DRAPERY		
			Room Type:	PUBLIC AREA		
			Header Type:	RIPPLEFOLD		
			Fullness:	120%		
			Draw Type:	BATON		
			Mount Type:	CEILING		
			Product Inclusion - Baton(s):	48" WHITE FIBERGLASS		
			Product Inclusion - Bracket(s):	CEILING BRACKETS		
			Control / Product Width:	58		
			Control / Product Length:	78		
			Track Type:	RIPPLEFOLD		
			Bracket Total:	3		
24	3	EA	SPECIAL DRAPERY - SHEER TRAVERSING PANELS		41.0000	123.00
			Room Location:	BREAKFAST SHEER DRAPERY		
			Room Type:	PUBLIC AREA		
			Header Type:	RIPPLEFOLD		
			Fullness:	120%		
			Draw Type:	BATON		
			Control / Product Width:	109 1/2		
			Control / Product Length:	100		
			Fabric Type:	SHEER		
			Fabric Pattern:	NIANTIC MARBLE SHEER		
			Fabric Color:	DARK GREY		
			Fabric Cost Per Yard \$:	24.7		
			Fabric Width:	118		
			Railroad Material:	YES		
			Top Hem:	1		
			Bottom Hem:	0 1/2		
			Side Hem:	1 1/2		
			Return Length:	3 1/2		
			Bottom Treatment:	CHAIN WEIGHTS - ROLLED HEM		
			Stiffeners:	YES		
			Fabric Yards Required:	25 1/2		
25	3	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		30.8000	92.40
			Room Location:	BREAKFAST SHEER DRAPERY		
			Room Type:	PUBLIC AREA		
			Header Type:	RIPPLEFOLD		
			Fullness:	120%		
			Draw Type:	BATON		
			Mount Type:	CEILING		
			Product Inclusion - Baton(s):	48" WHITE FIBERGLASS		
			Product Inclusion - Bracket(s):	CEILING BRACKETS		
			Control / Product Width:	109 1/2		
			Control / Product Length:	100		
			Track Type:	RIPPLEFOLD		
			Bracket Total:	5		

Purchase Order 13647

DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

ORIGINAL

Date Ordered: 01/06/2026
 Entered By: Gladys Mejia
 Sales Order: 102971
 Sidemark: FFI CHARLOTTE NC
 Ship Via: PU

**01/06/2026 12:22 PM**

Ship Date: 01/21/2026

SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD
 SAN DIEGO, CA 92154-7208

Phone: (702) 842-4044

SHIP TO: Account:
 FAIRFIELD INN BY MARRIOTT CHARLOTTE Phone: (336) 813-7706
 9230 HARRIS CORNERS PKWY Fax:
 CHARLOTTE, NC 28269-3788 Contact: Rohan Patel

26	1	EA	SPECIAL ROLLER SHADE		177.9000	177.90
			ROLLER SHADES			
			Room Location: FITNESS CENTER SOLAR SHADE			
			Room Type: PUBLIC AREA			
			System Type: 4" FASCIA - GRAY ANODIZED - G			
			Product Width: 70			
			Product Length: 57 3/4			
			Fabric Type: SHEER 10% OPENNESS			
			Fabric Pattern: SHEER WEAVE 2360			
			Fabric Color: BEIGE PEARL GREY			
			Control: CLUTCH			
			Chain Type: METAL - STAINLESS STEEL - STS			
			Chain Length: 34			
27	1	EA	SPECIAL ROLLER SHADE		118.4000	118.40
			ROLLER SHADES			
			Room Location: FRONT DESK SOLAR SHADE			
			Room Type: PUBLIC AREA			
			System Type: 4" FASCIA - GRAY ANODIZED - G			
			Product Width: 40			
			Product Length: 57 1/2			
			Fabric Type: SHEER 10% OPENNESS			
			Fabric Pattern: SHEER WEAVE 2360			
			Fabric Color: BEIGE PEARL GREY			
			Control: CLUTCH			
			Chain Type: METAL - STAINLESS STEEL - STS			
			Chain Length: 34			
28	1		SPECIAL ROLLER SHADES		178.3000	178.30
			Room Location: BREAKROOM SOLAR SHADE			
			Room Type: PUBLIC AREA			
			System Type: 4" FASCIA - GRAY ANODIZED - G			
			Product Width: 70 1/4			
			Product Length: 58 3/4			
			Fabric Type: SHEER 10% OPENNESS			
			Fabric Pattern: SHEER WEAVE 2360			
			Fabric Color: BEIGE PEARL GREY			
			Control: CLUTCH			
			Chain Type: METAL - STAINLESS STEEL - STS			
			Chain Length: 34			
29	1		SPECIAL BREAKROOM SOLAR SHADE		875.0000	875.00
30	1		SPECIAL 25% TARIFF - DUTIES FOR IMPORTATION INTO USA OF NON-USCMA FINISHED GOODS. (PER PRESIDENT'S TRUMP FENTANYL TARIFF)		3250.0000	3,250.00

TOTAL: 22,774.60
 EFFECTIVE DISCOUNT RATE: 0.00%
 DISCOUNTED TOTAL: 22,774.60